sERANSA T IR e e

SP-AKZE! HB00 6030423 1281812 D282
EE=S
— iRsE [160x30x2. 3 TR [160x30x2. 3
g %

inae

—a L[/LLHJJ/ T 1] 1] 5] 1] 5] 1] 1] 1] 1] 5] 1] L[/LLHJJ/ r o P\HE%M§8572 ) xﬂlﬂ%iﬁ;‘\ M6X70

P

N

SF ﬁ AL L A
($=1.720) AR - 4% FER AT E¥ 4 AR - 4 FER A 554
1800 1800 1800 _ 1 #FB .
60 60 AR M6x16 AR %B. IN
‘ 14@120=1680 | ‘ ‘ [EEE3 f M8x75
b — oih
Hat L128x18x1.2 4 060x30x2. 3 T4 060x30x2. 3 S il NP
BR#E [I60x30x2. 3 - P-1-DP s
2 A I ! y L a—+—FL— kBN W
L R [ | | | | | | | | | R & | A | e b \ L M6x45 &F
{0_0_0_ _o_o_o o_o o o_o_o_c_o o] I I 1 _o_._o} —H %?t_x . \ p, \ .
= o1 1P ) _ HIE.I% \‘\ _\\ . ../ / /,/
e 2| s AR - #F £ — R E {5 Vel %
“l e
{0_'_0_ _‘_O_‘_‘_0_'_0_‘_0_0_'_0_‘_’_0_ _'_0_‘}727 47j33 30 *ﬁ%iB. 1N. <IW
= | M6x70
R 2 =R A 2 o o2l BER A H 1 5400 (£ P
— g —] ~
28 & 7
- S | e S PB4
S & o1 8 T IR 3B, 1N
« f M8x75
350 350 £ R
fRig
IE | fl m BB IN W /28
(§=1.720) (S=1.720) M6x70 p 't S
A—F—JL—+
S BT % [mm] ) J—+—7L— kB IN. W
ET 350x350x450 MEx45
%Eﬁ H“]‘A XX a—F—JL—+ .
2 HER M | 350x350x600 (5t %325 30x600) PRATER A4 5E40 (AFR)
WO
X T
e EHE | ME | SEHEREER <REEE>
29 N/’ 7528 | @L&Y) m] EHEOBNAHHBFA~OREIL, PEHIEE > FUKEOFERMRIC & Y HOMIEC
w0 o | o k3 10 T mm X AVH ) — FEBROBBOBANSHY TTOTHIE, KEENET>TEEL,
- = = : =i : BIIZ&BKHEBEVRETES 234 - RBORBICOVTHHEEFZEVILRET,
RPN P A 1.9
+— NI S G 4
> S 3.5 | @& 2.0
OhHl = E# 1.7
iy 9[20] 35 |20]9 . == TR - i 4 7 S
j 2 X EREEROERY A XDBEICHTEBEBEETT,
SHALTS NFETE b s =
. 93 XMEREILLRH ET 5, I | SP=AK® H600 | No. spakht
_ v o (Rt RHFE : BASIERE BEELSR - RETHICED < AENIZEHR,
REZe€8 MFEE—X - 2 )
(5Fi%325143x250) (5T %525 54x93) (ERESM) RYEFEHMANBN/mM DBHE, JFE BV ixz\a%




